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cC412/3 P63 11 128 | 4 140 | 115 | 95 — M8x19 4 [336.5| 27
cC412/3 P71 14 | 16.3 5 160 | 130 | 110 | — M8x16 4.5 |336.5| 28
cC412/3 P80 19 [(21.8 6 200 | 165 | 130 | — M10x12 4 356 | 29
cC412/3 P90 24 | 27.3 8 200 | 165 | 130 | — M10x12 4 356 | 29
cC412/3 P100 28 |31.3 8 250 | 215 | 180 | — M12x16 4.5 | 366 | 33
cC412/3 P112 28 |31.3 8 250 | 215 | 180 | — M12x16 4.5 | 366 | 33
C412/3 P132 38 |41.3| 10 | 300 | 265 | 230 | 16 14 5 1402.5| 35
cC414 P63 11 128 | 4 140 | 115 | 95 — M8x19 4 395 | 30
c414 P71 14 | 16.3 5 160 | 130 | 110 | — M8x16 45 | 395 | 31
c414 P80 19 [(21.8 6 200 | 165 | 130 | — M10x12 4 (414.5| 32
cC414 P90 24 | 27.3 8 200 | 165 | 130 | — M10x12 4 (414.5| 32
c414 P100 28 |31.3 8 250 | 215 | 180 | — M12x16 4.5 |1424.5| 36
c414 P112 28 |31.3 8 250 | 215 | 180 | — M12x16 4.5 |1424.5| 36
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